PYGMALION PROMPT: Who should be given the most credit for Eliza's transformation from a flower girl into a duchess and why? Write a thesis statement (claim plus three arguments) below:
THESIS STATEMENT: (CIRCLE THE CLAIM AND NUMBER THE ARGUMENTS PLEASE)

Now, develop ONE of the arguments into a triple stuft OREO body paragraph (consult your Tome) and include any TWO of the CM STRETCHER strategies in your OREO (label which strategy you are using in (  ) like a citation. Also include at least TWO GRUMPY CAT VOCAB WORDS.
OUTLINE YOUR OREO BELOW BEFORE YOU TYPE IT.
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